Award Worksheet

Run Date: 12/15/16 8:10 am

Purchasing Entity:Shelby County SchoolsBid ID:2218Description:Bid for Maintenance Warehouse- Lighting ProductsCategory:Lighting -#712386- TJ- Annual BidEffective Start Date:

Awarded: Bids Due By: Bids Sealed Until:

11/09/2016 10:30 AM 11/09/2016 10:30 AM

Effective End Date:						
	Vendor Summary Information Vendor Name Response Terms Response Payment Terms Response Dollar Summary					
Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary			
CED		NET 30	1,105,535.0000			

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted items found 1	for the selected criteria. Lutron LRF2-OHLB -P WH; Occupancy Sensor; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Lutron - LRF2-OHLB	CED -P WH	46.0000	100	4,600.00			
	Quoted as Spec'd: Yes		Product Number: LRF2-OHLB	-P WH					
	Response Item Payment Term	s: Net 30							
2	Lutron LRF2-OWLB-P WH; Occupancy Sensor; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Lutron - LRF2-OWLE	CED 3-P WH	46.0000	100	4,600.00			
	Quoted as Spec'd: Yes		Product Number: LRF2-OWLE	B-P WH					
	Response Item Payment Terms	s: Net 30							
3	Lutron LRF2-OKLB-P WH; Occupancy Sensor; NO SUBSTITUTES Manufacturer & Part Number:	1 - Count Lutron - LRF2-OKLB	CED -P WH	46.0000	100	4,600.00			
	Quoted as Spec'd: Yes		Product Number: LRF2-OKLB	-P WH					
	Response Item Payment Terms	s: Net 30							
4	Lutron LRF2-OCR2B-P WH; Occupancy Sensor; NO SUBSTITUTES Manufacturer & Part Number:	1 - Count Lutron - LRF2-OCR2	CED B-P WH	46.0000	100	4,600.00			
	Quoted as Spec'd: Yes		Product Number: LRF2-OCR2	B-P WH					
	Response Item Payment Terms	s: Net 30							
5	Lutron RMJ-16-DV-B; Relay; NO SUBSTITUTES Manufacturer & Part Number:	1 - Count Lutron - RMJ-16-RDV	CED /-B	58.6500	100	5,865.00			
	Quoted as Spec'd: Yes		Product Number: RMJ-16-RD	/-В					
	Response Item Payment Terms	s: Net 30							
6	Lutron RMJ-ECO32-DV-B; Relay; NO SUBSTITUTE	1 - Count	CED	90.0000	100	9,000.00			

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit Lutron - RMJ-ECO32-	Vendor -DV-B	Bid Price	Response Quantity	Total Price	Pending Pen Award Aw Quantity To	
	Quoted as Spec'd: Yes		Product Number: RMJ-ECO32-D)V-B				
	Response Item Payment Terms:	: Net 30						
7	Lutron TVI-LMF-2A; LED Interface; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Lutron - TVI-LMF-2A	CED	46.0000	100	4,600.00		
	Quoted as Spec'd: Yes		Product Number: TVI-LMF-2A					
	Response Item Payment Terms:	: Net 30						
8	Lutron PJ2-2B-GWH-LO1; Wireless Controller; NO SUBSTITUTE	1 - Count	CED	14.1600	100	1,416.00		
	Manufacturer & Part Number:	Lutron - PJ2-2B-GWH	I-LO1					
	Quoted as Spec'd: Yes		Product Number: PJ2-2B-GWH-I	LO1				
	Response Item Payment Terms:	: Net 30						
9	Lutron PJ2-2BRL-GWH-LO1; Wireless Controller; NO SUBSTITUTE	1 - Count	CED	14.1600	100	1,416.00		
	Manufacturer & Part Number:	Lutron - PJ2-2BRL-G	WH-LO1					
	Quoted as Spec'd: Yes		Product Number: PJ2-2BRL-GW	H-LO1				
	Response Item Payment Terms	: Net 30						
10	Lutron MRF2-8S-DV-WH; Switch; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Lutron - MRF2-8S-DV	CED /-WH	81.5000	100	8,150.00		
	Quoted as Spec'd: Yes		Product Number: MRF2-8S-DV-	WН				
	Response Item Payment Terms:	: Net 30						
11	Lutron MA-AS-WH switch; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Lutron - MA-AS-WH	CED	19.6600	100	1,966.00		
	Quoted as Spec'd: Yes		Product Number: MA-AS-WH					
	Response Item Payment Terms	: Net 30						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
12	Lutron MA-AS-277-WH switch; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Lutron - MA-AS-277-\	CED VH	24.5000	100	2,450.00			
	Quoted as Spec'd: Yes		Product Number: MA-AS-277-	WH					
	Response Item Payment Terms:	Net 30							
13	Lutron MS-OPS6M2-DV-WH; Sensor/Switch; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Lutron - MS-OPS6M2	CED	27.9500	100	2,795.00			
	Quoted as Spec'd: Yes		Product Number: MS-OPS6M2	P-DV-WH					
	Response Item Payment Terms:	Net 30							
14	Lutron In Wall Bi-Level MS-A202-WH; Sensor/Switch; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Lutron - MS-A202-WH	CED	66.0000	100	6,600.00			
	Quoted as Spec'd: Yes Response Item Payment Terms:	Net 30	Product Number: MS-A202-WI	H					
15	Lutron Wire Guard WGWS-CPN3688 Manufacturer & Part Number:	1 - Count Lutron - WGWS-CPN	CED 3688	36.1500	100	3,615.00			
	Quoted as Spec'd: Yes		Product Number: WGWS-CPN	13688					
	Response Item Payment Terms:	Net 30							
16	Lumark CrossTour XTOR3A wall pack -; LED Wall Pack; approved equal Manufacturer & Part Number:	1 - Count Lumark - XTOR3A	CED	155.4500	100	15,545.00			
	Quoted as Spec'd: Yes		Product Number: XTOR3A						
	Response Item Payment Terms:	Net 30							
17	Lumark CrossTour Maxx XTOR5A-PMA; LED Wall Pack; approved equal	1 - Count	CED 4	168.1800	100	16,818.00			

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Pend Total Awa		
	Manufacturer & Part Number:	Lumark - XTOR4B-PN	ЛА							
	Quoted as Spec'd: Yes		Product Number: XTOR4B-PM	IA						
	Response Item Payment Terms	: Net 30								
	Response Item Notes: NEW PA	RT NUMBER MUST BE O	REDERED IN QTY OF 100							
18	Lumark CrossTour Maxx XTOR9A-PMA; LED Wall Pack; approved equal	1 - Count	CED	219.3200	100	21,932.00				
	Manufacturer & Part Number:	Lumark - XTOR8B-PN								
	Quoted as Spec'd: Yes		Product Number: XTOR8B-PN	IA						
	Response Item Payment Terms	: Net 30								
	Response Item Notes: NEW PA	RT NUMBER MUST BE O	RDERED IN QTY OF 100							
19	Lumark CrossTour 120vPC	1 - Count	CED	16.5000	100	1,650.00				
	adder; LED Wall Pack; approved equal Manufacturer & Part Number:	Lumark - 120V Photo								
			Product Number: 120V Photo							
	Quoted as Spec'd: Yes Product Number: 120V Photo Cel Adder Response Item Payment Terms: Net 30 Product Number: 120V Photo Cel Adder									
	Response item Payment Terms	: Net 30								
20	Lumark CrossTour 277vPC adder; LED Wall Pack; approved equal	1 - Count	CED	16.5000	100	1,650.00				
	Manufacturer & Part Number:	Lumark - 277V Photo	Cel Adder							
	Quoted as Spec'd: Yes		Product Number: 277V Photo	Cel Adder						
	Response Item Payment Terms	: Net 30								
21	Cooper Caretaker 50w LED pole light; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count Cooper - CTKRV1A	CED	106.1900	100	10,619.00				
	Quoted as Spec'd: Yes		Product Number: CTKRV1A							
	Response Item Payment Terms	• Net 30								
	Response ten rayment remis									
22	Lithonia IBH 12L MVOLT WGX; High Bay; approved equal	1 - Count	CED	223.5000	100	22,350.00				
	equal									

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit Lithonia - IBH 12L M	Vendor /OLT W	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award	
	Quoted as Spec'd: Yes		Product Number: IBH 12L MV	OLT W						
	Response Item Payment Terms	: NET 30								
23	Lithonia IBH 18L MVOLT WGX; High Bay; approved equal	1 - Count	CED	388.9500	100	38,895.00				
	Manufacturer & Part Number:	LITHONIA - IBH 18L	MVOLT WGX							
	Quoted as Spec'd: Yes		Product Number: IBH 18L MV	OLT WGX						
	Response Item Payment Terms	: NET 30								
24	Lithonia IBH 24L MVOLT WGX; High Bay; approved equal Manufacturer & Part Number:	1 - Count LITHONIA - IBH 24L	CED MVOLT WGX	421.8000	100	42,180.00				
	Quoted as Spec'd: Yes		Product Number: IBH 24L MV							
		. NET 20		OLT WOX						
	Response Item Payment Terms	: NET 30								
25	Lithonia LBL4LP850; Wrap; NO SUBSTITUTE	1 - Count	CED	112.2500	100	11,225.00				
	Manufacturer & Part Number:	LITHONIA - LBL440L								
	Quoted as Spec'd: Yes Product Number: LBL440LEZ1PLP850									
	Response Item Payment Terms	: NET 30								
26	Lithonia TWR1 LED 1 50K MVOLT DDB; Wall Pack; NO SUBSTITUTE	1 - Count	CED	198.4500	100	19,845.00				
	Manufacturer & Part Number:	LITHONIA - TWR1 LE	ED 1 50K MVOL							
	Quoted as Spec'd: Yes		Product Number: TWR1 LED	1 50K MVOL						
	Response Item Payment Terms	: NET 30								
27	Lithonia TWR1 LED 2 50K MVOLT DDB; Wall Pack; NO SUBSTITUTE	1 - Count	CED	311.8500	100	31,185.00				
	Manufacturer & Part Number: LITHONIA - TWR1 LED 2 50K MVOLT									
	Quoted as Spec'd: Yes		Product Number: TWR1 LED	2 50K MVOLT						
	Response Item Payment Terms	: NET 30								

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Award	ending Award Pending Total Award
28	Lithonia TWR1 LED 3 50K MVOLT DDB; Wall Pack; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count LITHONIA - TWR1 LE	CED ED 3 50K MVOL	357.1500	100	35,715.00		
	Quoted as Spec'd: Yes		Product Number: TWR1 LED	3 50K MVOL				
	Response Item Payment Terms	s: NET 30						
29	Lithonia VRC LED 150 MVOLT; Canopy; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count LITHONIA - VRC LEI	CED D 150 MVOLT	311.8400	100	31,184.00		
	Quoted as Spec'd: Yes		Product Number: VRC LED 1	50 MVOLT				
	Response Item Payment Terms	s: NET 30						
30	Lithonia 2GTL4LP850 2x4 LED Troffer; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count LITHONIA - 2GTL440	CED	118.0000	100	11,800.00		
	Quoted as Spec'd: Yes		Product Number: 2GTL440EZ	11 P850				
	Response Item Payment Terms: NET 30							
31	Lithonia 2GTL2LP850 2x2 LED Troffer; NO SUBSTITUTE Manufacturer & Part Number:	1 - Count LITHONIA - 2GTL240	CED DLEZ1LP850	112.2500	100	11,225.00		
	Quoted as Spec'd: Yes		Product Number: 2GTL240LE	Z1LP850				
	Response Item Payment Terms	s: NET 30						
32	Lithonia GTL4347LP850 1'x 4' LED Troffer NO SUBSTITUTE Manufacturer & Part Number:	1 - Count LITHONIA - GTL440L	CED .EZ1LP850	123.6500	100	12,365.00		
	Quoted as Spec'd: Yes		Product Number: GTL440LEZ	1LP850				
	Response Item Payment Terms	s: NET 30						

Line Lot Number Code 33	Item Description Osram LSC/L/40/T5/UNV/BZ;	Purchase Unit 1 - Count	Vendor CED	Bid Price 168.7500	Response Quantity 100	Total Price 16,875.00	Pending Award Quantity		nding vard
	Canopy; approved equal Manufacturer & Part Number:	SYLVANIA - CANOP	YA/040UNVD740						
	Quoted as Spec'd: Yes		Product Number: CANOPYA/0	40UNVD740					
	Response Item Payment Terms	: NET 30							
34	Osram LSC/L/55/T5/UNV/BZ; Canopy; approved equal Manufacturer & Part Number:	1 - Count SYLVANIA - CANOP	CED YA/055UNVD740	193.7500	100	19,375.00			
	Quoted as Spec'd: Yes		Product Number: CANOPYA/0	55UNVD740					
	Response Item Payment Terms	: NET 30							
35	Sylvania Ultra HE T8 Retrofit Kits LED22T8/L48/F/DIM1x2HE/ 850/UNV - approved equal Manufacturer & Part Number:	1 - Count Sylvania - LED15T8/L		12.5500	100	1,255.00			
		Sylvania - LED 1310/L	Product Number: LED15T8/L4						
	Quoted as Spec'd: Yes	NET 20	Froduct Number: LED 1516/L4	D/FG/030/3					
	Response Item Payment Terms: NET 30 Response Item Notes: THESE ARE SINGLE LAMPS AND NOT A KIT. WORKS WITH A T8 BALLAST								
	Response item notes. THESE			DALLAGI					
36	Cooper B Line Speed link and Y-toggle; NO SUBSTITUTE	1 - Count	CED	4.0500	100	405.00			
	Manufacturer & Part Number:	BLINE - BYKT18-063	-40K						
	Quoted as Spec'd: Yes		Product Number: BYKT18-063	-40K					
	Response Item Payment Terms	s: NET 30							
37	KADRD LED 40C 1000 50K R3MV PIRH DDBXD NO SUBSTITUTE Manufacturer & Part Number:	1 - Count LITHONIA - KADRDL	CED ED40C100050KR3	452.0000	100	45,200.00			
	Quoted as Spec'd: Yes		Product Number: KADRDLED4	10C100050KR3					
	Response Item Payment Terms	:: NET 30							

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award		
38		KAD LED 40C 1000 50K R3MV PIRHPUMBAK09 DDBXD NO SUBSTITUTE Manufacturer & Part Number:	1 - Count LITHONIA - KADLED	CED	619.2900	100	61,929.00					
		Quoted as Spec'd: Yes		Product Number: KADLED400								
		Response Item Payment Terms:	NFT 30									
39		6' Fixture whip Manufacturer & Part Number:	1 - Count SWIRE - FIXTWHIP	CED 6FT	6.7000	100	670.00					
		Quoted as Spec'd: Yes		Product Number: FIXTWHIP 6	FT							
		Response Item Payment Terms	NET 30									
40		Satco 18 watt LED med base corn lamp 5000K MV - approved equal Manufacturer & Part Number:	1 - Count SATCO - S9390	CED	35.1700	100	3,517.00					
		Quoted as Spec'd: Yes		Product Number: S9390								
		Response Item Payment Terms:	: NET 30									
		Response Item Notes: RENESOLA CORN LMAPS ARE NOT EQUAL IN WATTAGE OR LUMAN OUTPUT										
41		Satco 22 watt LED med base corn lamp 5000K MV -approved equal Manufacturer & Part Number:	1 - Count SATCO - S9391	CED	41.1200	100	4,112.00					
		Quoted as Spec'd: Yes		Product Number: S9391								
		Response Item Payment Terms:	: NET 30									
		Response Item Notes: RENESC	DLA CORN LMAPS ARE N	OT EQUAL IN WATTAGE OR LL	IMAN OUTPUT							
42		Satco 36 watt LED med base corn lamp 5000K MV - approved equal Manufacturer & Part Number:	1 - Count SATCO - S9392	CED	49.3500	100	4,935.00					
		Quoted as Spec'd: Yes		Product Number: S9392								
		Response Item Payment Terms: NET 30										
		Response Item Notes: RENESC	LA CORN LMAPS ARE N	OT EQUAL IN WATTAGE OR LL	IMAN OUTPUT							

Line Lot Number Code 43	Item DescriptionPurchase UnitSatco 45 watt LED mog1 - Countbase corn lamp 5000K MV -approved equalManufacturer & Part Number:SATCO - S9393	Vendor CED	Bid Price 52.8800	Response Quantity 100	Total Price 5,288.00	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes	Product Number: S9393						
	Response Item Payment Terms: NET 30							
	Response Item Notes: RENESOLA CORN LMAPS ARE	NOT EQUAL IN WATTAGE OR LU	JMAN OUTPUT					
44	Satco 54 watt LED mog 1 - Count base corn lamp 5000K MV - approved equal Manufacturer & Part Number: SATCO - S9394	CED	61.1200	100	6,112.00			
	Quoted as Spec'd: Yes	Product Number: S9394						
	Response Item Payment Terms: NET 30							
	Response Item Notes: RENESOLA CORN LMAPS ARE	NOT EQUAL IN WATTAGE OR LU	JMAN OUTPUT					
45	Satco 80 watt LED mog 1 - Count base corn lamp 5000K MV - approved equal Manufacturer & Part Number: SATCO - S9395	CED	117.5900	100	11,759.00			
	Quoted as Spec'd: Yes	Product Number: S9395						
	Response Item Payment Terms: NET 30							
	Response Item Notes: RENESOLA CORN LMAPS ARE	NOT EQUAL IN WATTAGE OR LU	JMAN OUTPUT					
46	Satco 100 watt LED mog1 - Countbase corn lamp 5000K MV -approved equalManufacturer & Part Number:SATCO - S9396	CED	139.9400	100	13,994.00			
	Quoted as Spec'd: Yes	Product Number: S9396						
	Response Item Payment Terms: NET 30							
47	Satco 120 watt LED mog 1 - Count base corn lamp 5000K MV - approved equal Manufacturer & Part Number: SATCO - S9397	CED	158.7600	100	15,876.00			
	Quoted as Spec'd: Yes	Product Number: S9397						
	Response Item Payment Terms: NET 30							

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Pendin Total Award		
	Response Item Notes: RENES	OLA CORN LMAPS ARE	NOT EQUAL IN WATTAGE OR LUI	MAN OUTPUT						
48	ReneSola LED Tube Lamp RT8010O0104 10 watt 2' - approved equal	1 - Count	CED	6.9500	100	695.00				
	Manufacturer & Part Number:	RENESOLA - RT80								
	Quoted as Spec'd: Yes Product Number: RT8010O0104									
	Response Item Payment Term	s: NET 30								
49	ReneSola LED Tube Lamp RT8018O0104 18 watt 4' - approved equal	1 - Count	CED	9.5000	100	950.00				
	Manufacturer & Part Number:	RENESOLA - RT80	18O0104							
	Quoted as Spec'd: Yes		Product Number: RT8018O010	4						
	Response Item Payment Term	s: NET 30								
50	Cooper Prevail PRVA40D480T3SABZMSP DIN-L30 Pole light - No Substitute Manufacturer & Part Number:	1 - Count COOPER - PRVA40	CED DD480T3SABZMSP	462.7700	100	46,277.00				
	Quoted as Spec'd: Yes Product Number: PRVA40D480T3SABZMSP									
	Response Item Payment Terms: NET 30									
51	Cooper HIDAC ISHH01 Remote - No Substitute	1 - Count	CED	45.4500	100	4,545.00				
	Manufacturer & Part Number:	COOPER - HIDAC I								
	Quoted as Spec'd: Yes		Product Number: HIDAC ISHH0)1						
	Response Item Payment Terms: NET 30									
52	Sylvania LEDRT4/600/840 4" downlight retro - No Substitute Manufacturer & Part Number:	1 - Count SYLVANIA - LED/R'	CED T4/600/840	11.0000	100	1,100.00				
	Quoted as Spec'd: Yes		Product Number: LED/RT4/600	/840						
	Response Item Payment Term									

Line Lot Number Code 53	Item Description Sylvania LED RT5/6/1200/840 downlight	Purchase Unit 1 - Count	Vendor CED		esponse uantity 100	Total Price 3,420.00	Pending Award Quantity	Pending Award Total	Pending Award
	retro - No Substitute Manufacturer & Part Number:	SYLVANIA - LEDRT	5/6/1200/940						
	Quoted as Spec'd: Yes		Product Number: LEDRT5/6/	1200/940					
	Response Item Payment Term	s: NET 30							
54	Sylvania LED RT8/200/840 downlight retro - No Substitute Manufacturer & Part Number:	1 - Count SYLVANIA - LEDRT	CED 8/2000/840	52.0000	100	5,200.00			
	Quoted as Spec'd: Yes		Product Number: LEDRT8/20	00/840					
	Response Item Payment Term	e: NET 30		00/840					
	Response tem rayment remi	3. NET 50							
55	Lithonia KAX1LEDP340KR4MVOLT SPADDBXD- 250W MH-area light-w/ bi-level motion - approved equal Manufacturer & Part Number:	1 - Count LITHONIA - KAX1LE	CED EDP340KR4MVOLT	515.0000	100	51,500.00			
	Quoted as Spec'd: Yes		Product Number: KAX1LEDF	340KR4MVOLT					
	Response Item Payment Term	s: NET 30							
56	Lithonia KAX1LEDP440KR4MVOLT SPADDBXD- 400W MH-area light-w/ bi-level motion - approved equal Manufacturer & Part Number:	1 - Count LITHONIA - KAX1LE	CED EDP440KR4MVOLT	547.5000	100	54,750.00			
	Quoted as Spec'd: Yes		Product Number: KAX1LED	P440KR4MVOLT					
	Response Item Payment Term	s: NET 30							
57	Lithonia KAX2LEDP140KR4MVOLT SPADDBXD- 400W MH-area light-w/ bi-level motion - approved equal Manufacturer & Part Number:	1 - Count LITHONIA - KAX2LE	CED EDP140KR4MVOLT	692.1500	100	69,215.00			

Line Lot Number Code	Item Description Quoted as Spec'd: Yes Response Item Payment Terms	Purchase Unit	Vendor Product Number: KAX2LEDP	Bid Price C	esponse Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
58	Lithonia KAX2LEDP240KR4MVOLT SPADDBXD- 1000W MH-area light-w/ bi-level motion Manufacturer & Part Number:	1 - Count LITHONIA - KAX2LE	CED DP240KR4MVOLT	750.0000	100	75,000.00			
	Quoted as Spec'd: Yes		Product Number: KAX2LEDP2	40KR4MVOLT					
	Response Item Payment Terms	:: NET 30							
59	Lithonia KAXWLEDP140KR4MVOLT DDBXD-150W MH-wall pack- approved equal Manufacturer & Part Number:	1 - Count LITHONIA - KAXWLE	CED EDP140KR4MVOLT	289.5000	100	28,950.00			
	Quoted as Spec'd: Yes		Product Number: KAXWLEDP	140KR4MVOLT					
	Response Item Payment Terms	:: NET 30							
60	Lithonia KAXWLEDP240KR4MVOLT DDBXD- 250W MH-wall pack - approved equal Manufacturer & Part Number:	1 - Count LITHONIA - KAXWLE	CED DP240KR4MVOLT	318.3500	100	31,835.00			
	Quoted as Spec'd: Yes		Product Number: KAXWLEDF	240KR4MVOLT					
	Response Item Payment Terms: NET 30								
61	Lithonia KAXWLEDP340KR4MVOLT DDBXD- 400W MH-wall pack- or approved equal Manufacturer & Part Number:	1 - Count LITHONIA - KAXWLE		347.2500	100	34,725.00			
	Quoted as Spec'd: Yes Response Item Payment Terms	:: NET 30	Product Number: KAXWLEDP	340KR4MVOLT					

	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award	
62	Lithonia DMW2L242000LMPFLWD MVOLTGZ140K80CRI - or approved equal	1 - Count	CED	150.5000	100	15,050.00				
	Manufacturer & Part Number: LITHONIA - DMW2L242000LMPFLWD									
	Quoted as Spec'd: Yes		Product Number: DMW2L242	000LMPFLWD						
	Response Item Payment Terms: NET 30									
				400 4000	400	40.040.00				
63	Lithonia DMW2L243000LMPFLWD MVOLTGZ140K80CRI - or approved equal	1 - Count	CED	162.1000	100	16,210.00				
	Manufacturer & Part Number:	LITHONIA - DMW2L	243000LMPFLWD							
	Quoted as Spec'd: Yes		Product Number: DMW2L243	000LMPFLWD						
	Response Item Payment Terms	s: NET 30								
64	Lithonia DMW2L244000LMPFLWD MVOLTGZ140K80CRI - or approved equal	1 - Count	CED	173.6500	100	17,365.00				
	Manufacturer & Part Number:	LITHONIA - DMW2L	244000LMPFLWD							
	Quoted as Spec'd: Yes Product Number: DMW2L244000LMPFLWD									
	Response Item Payment Terms	s: NET 30								
65	Lithonia DMW2L244000LMPFLWD 277GZ140K80CRIMSI10NW LDSCNWL - or approved equal	1 - Count	CED	245.0000	100	24,500.00				
	Manufacturer & Part Number: LITHONIA - DMW2L244000LMPFLWD									
	Quoted as Spec'd: Yes Product Number: DMW2L244000LMPFLWD									
	Response Item Payment Terms: NET 30									
66	Lithonia MSI10NWLDSCNWL 360D LOW MNT SENSOR, WET LOCATION - or approved equal Manufacturer & Part Number:	1 - Count LITHONIA - MSI10N		75.2600	100	7,526.00				

Line Lot Number Code	Item Description Quoted as Spec'd: Yes	Purchase Unit	Vendor Product Number: MSI10NWLD	Bid Price DSCNWL 360D	Response Quantity	Total Price	PendingPendingAwardAwardPendingQuantityTotalAward
	Response Item Payment Terms	: NET 30					
67	1 gang SS décor switch plate Manufacturer & Part Number:	1 - Count LEVITON - 8400140	CED	0.7700	100	77.00	
	Quoted as Spec'd: Yes		Product Number: 8400140				
	Response Item Payment Terms	: NET 30					
68	1 gang SS blank switch plate Manufacturer & Part Number:	1 - Count LEVITON - 8401440	CED	0.7700	100	77.00	
	Quoted as Spec'd: Yes		Product Number: 8401440				
	Response Item Payment Terms	: NET 30					
69	2 gang SS décor switch plate Manufacturer & Part Number:	1 - Count LEVITON - 8440940	CED	1.9000	100	190.00	
	Quoted as Spec'd: Yes		Product Number: 8440940				
	Response Item Payment Terms	: NET 30					
70	2 gang SS blank switch plate Manufacturer & Part Number:	1 - Count LEVITON - 8402540	CED	2.2800	100	228.00	
	Quoted as Spec'd: Yes		Product Number: 8402540				
	Response Item Payment Terms	: NET 30					
71	3 gang SS décor switch plate Manufacturer & Part Number:	1 - Count LEVITON - 8441140	CED	5.5800	100	558.00	
	Quoted as Spec'd: Yes		Product Number: 8441140				
	Response Item Payment Terms	: NET 30					
72	3 gang SS blank switch plate	1 - Count	CED	5.3900	100	539.00	
	Manufacturer & Part Number:	LEVITON - 8403340					

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: 8403340						
		Response Item Payment Terms	: NET 30							
73		4 gang SS décor switch plate Manufacturer & Part Number:	1 - Count LEVITON - 8441240	CED	7.4500	100	745.00			
		Quoted as Spec'd: Yes		Product Number: 8441240						
		Response Item Payment Terms	: NET 30							
74		4 gang SS blank switch plate Manufacturer & Part Number:	1 - Count LEVITON - 8406440	CED	5.5000	100	550.00			
		Quoted as Spec'd: Yes		Product Number: 8406440						
		Response Item Payment Terms	: NET 30							